

#### **ABSTRACT**

Cooperation Department – Construction of 562 godowns in Primary Agriculture Co-operative Credit Society and Agriculture Producers Co-operative Marketing Society with a total storage capacity of 98,800 MTs at a total estimated cost of Rs.109.89 crore with Warehouse Infrastructure Fund (WIF) loans under NABARD Warehousing Scheme 2014-15 – Administrative Sanction – Orders – Issued.

# Cooperation, Food and Consumer Protection (CM2) Department G.O.(Ms) No.11

dated: 23 .01.2015. ஜய வருடம், தை 9, திருவள்ளுவர் ஆண்டு 2046 Read:

- 1. G.O.(Ms) No.78, Co-operation, Food and Consumer Protection Department, dated 19.09.2011.
- 2. G.O.(Ms) No.114, Co-operation, Food and Consumer Protection Department, dated 12.09.2012.
- 3. G.O.(Ms) No.192, Co-operation, Food and Consumer Protection Department, dated 13.11.2013.
- 4. From the Registrar of Co-operative Societies Letter Rc No.55192/2014/GC1, dated 25.9.2014.
- 5. Government letter No. 64446/Res.II/14-1, Finance Department, dated 10.12.2014.

\_\_\_\_\_

#### ORDER:

In the Government order first read above, orders according administrative sanction has been issued for the construction of 1166 godowns [1118 godowns for Primary Agricultural Co-operative Credit Societies and 48 godowns for Agricultural Producers Co-operative Marketing Societies] with a total storage capacity of 1,55,300 MTs at a total cost of Rs.107.26 crore with National Bank for Agriculture and Rural Development's loan assistance under Rural Infrastructure Development Fund XVII Scheme for the year 2011-2012.

2. In the Government order second read above, orders according administrative sanction have been issued for the construction of 1104 godowns [1075 godowns for Primary Agricultural Co-operative Credit Societies and 29 godowns for Agricultural

Producers Co-operative Marketing Societies] with a total storage capacity of 1,29,400 MTs at a total cost of Rs.129.76 crore with National Bank for Agriculture and Rural Development's loan assistance under Rural Infrastructure Development Fund XVIII Scheme for the year 2012-2013.

- 3. In the Government Order third read above, orders according administrative sanction have been issued for construction of 1044 godowns (1019 godowns for Primary Agriculture Co-operative Credit Society and 25 godowns for Agriculture Producers Co-operative Marketing Society) with a total storage capacity of 1,24,100 MTs at a total cost of Rs.140.94 crore with National Bank for Agriculture and Rural Development's loan assistance under Warehousing Infrastructure Fund Scheme for the year 2013-2014.
- 4. The Registrar of Co-operative Societies, in the letter fourth read above, has sent the proposal to the Government for construction of 562 godowns in Primary Agriculture Co-operative Credit Society and Agriculture Producers Co-operative Marketing Society (i.e 525 Godowns for Primary Agriculture Co-operative Credit Society and 37 Godowns for Agriculture Producers Co-operative Marketing Society) at a total estimate of Rs.109.89 crore with National Bank for Agriculture and Rural Development's loan assistance under Warehousing Infrastructure Fund Scheme for the year 2014-2015 as detailed below:-

Institution	Godown	No. of	Cost per	Total
	Capacity	Godowns	Godown	Project
				Cost
PACCS (plain)	100 MT	481	15,00,000	72,15,00,000
PACCS (hill)	100 MT	12	18,00,000	2,16,00,000
PACCS (plain)	500 MT	25	39,00,000	9,75,00,000
PACCS (hill)	500 MT	5	46,80,000	2,34,00,000
PACCS (plain)	1000 MT	1	65,00,000	65,00,000
PACCS (plain)	2000 MT	1	1,25,00,000	1,25,00,000
APCMS (plain)	100 MT	10	15,00,000	1,50,00,000
APCMS (plain)	500 MT	11	39,00,000	4,29,00,000
APCMS (plain)	1000 MT	7	65,00,000	4,55,00,000
APCMS (plain)	2000 MT	9	1,25,00,000	11,25,00,000
Total		562	5,06,00,000	109,89,00,000

5. The Registrar of Co-operative Societies has stated that Primary Agricultural Cooperative Credit Societies have not started the process of revival after getting assistance through short term Cooperative Credit structure revival package and hence without adding any more financial burden, he has proposed that the total cost of Primary Agricultural Cooperative Credit Societies godowns under this proposal be financed fully as grant. However, since Agricultural Producers Cooperative Marketing Societies can withstand commitment of 10% of the total cost of the godowns proposed under this proposal, he has stated that 10% of the cost estimate will be borne by the Agricultural Producers Cooperative Marketing Societies as under:-

Type of	Godown	No. of	Cost per	Total Cost	
Societies	Capacity	Godowns	Godown	(Rs.)	
PACCS (plain)	100 MT	481	15,00,000	72,15,00,000	
PACCS (Hill)	100 MT	12	18,00,000	2,16,00,000	
PACCS (plain)	500 MT	25	39,00,000	9,75,00,000	
PACCS (Hill)	500 MT	5	46,80,000	2,34,00,000	
PACCS (plain)	1000 MT	1	65,00,000	65,00,000	
PACCS (plain)	2000 MT	1	1,25,00,000	1,25,00,000	
Total Project cost & Grant		525		88,30,00,000	
for PACCS	(A)	323		88,30,00,000	
APCMS (plain)	100 MT	10	15,00,000	1,50,00,000	
APCMS (plain)	500 MT	11	39,00,000	4,29,00,000	
APCMS (plain)	1000 MT	7	65,00,000	4,55,00,000	
APCMS (plain)	2000 MT	9	1,25,00,000	11,25,00,000	
Total Project cost for		37		21,59,00,000	
APCMS	(B)	37		21,39,00,000	
LESS: 10% funding for APCMS Godowns			(-) 2,15,90,000		
Total Grant for A	` ,			19,43,10,000	
	(90%)			10, 10, 10,000	
<u>ABSTRACT</u>					
Total Project Cost (A + B) 562 Godowns(525 for PACCS +37 for APCMS)			109,89,00,000		
LESS: 10%funding for APCMS Godowns			2,15,90,000		
Total grant required (A + C) (Amount in Rupees)				1,07,73,10,000	

- 6. The Registrar of Cooperative Societies has further stated that the creation of this additional storage space of 98,800 MT through scientific storage and produce pledge loan operation, will result in saving of 6.5% of agricultural produce stored in these Warehousing Infrastructure Fund godowns per year through reduced grain loss.
- 7. The Registrar of Cooperative Societies has requested the Government to accord administrative sanction for construction of 562 godowns (525 godowns for Primary Agriculture Co-operative Credit Society and 37 godowns for Agriculture Producers Co-operative Marketing Society) at total project cost а Rs. 109,89,00,000/- (Rupees one hundred and nine crore and eighty nine lakh only) under National Bank for Agriculture and Rural Development's Warehousing Infrastructure Fund Scheme for the year 2014-15 and to sanction Rs. 1,07,73,10,000/-(Rupees one hundred and seven crore, seventy three lakh and ten thousand only) as total grant for the construction of godowns which involves;
  - a) Rs.88,30,00,000/- as 100 % grant for the construction of 525 godowns for Primary Agriculture Co-operative Credit Society and
  - b) Rs.19,43,10,000/- as 90% grant for the construction of 37 godowns for Agriculture Producers Co-operative Marketing Society.
- 8. In the letter fifth read above, the Government have forwarded the project proposal sent by the Registrar of Co-operative Societies to the Chief General Manager, National Bank for Agriculture and Rural Development for its loan assistance under Warehouse Infrastructure Fund Scheme for the year 2014-2015 as detailed below:-

Details of work	Total Project Cost	NABARD Loan	Implementing Agency Contribution	State Government Contribution	
(Rupees in Crores)					
Construction of	88.30	83.885	-	4.415	
525 Godowns					
by PACCS					
Construction of	21.59	19.431	2.159	-	
37 Godowns by					
APCMS					
Total	109.89	103.316	2.159	4.415	

9. The Government after careful examination accept the proposal of the Registrar of Co-operative Societies and accord administrative sanction for the construction of 562 godowns [525 Godowns for Primary Agricultural Co-operative Credit Societies and 37 godowns for Agricultural Producers Co-operative Marketing Societies] with a total storage capacity of 98,800 MTs at a total estimated cost of Rs.109.89 crore under Warehouse Infrastructure Fund Scheme for 2014-15 as per the following pattern:

Total Project cost	NABARD Loan	State Government Contribution	APCMS Own Fund
Rs.	Rs.	Rs.	Rs.
109,89,00,000	102,34,44,500	5,38,65,500	2,15,90,000

10. This order issues with the concurrence of Finance Department vide its U.O.No. 4284A/CF&CP/2015-1, dated; 23.1.2015.

### (BY ORDER OF THE GOVERNOR)

## Md. NASIMUDDIN PRINCIPAL SECRETARY TO GOVERNMENT

Tο

The Registrar of Cooperative Societies, Chennai-10.

The Chief General Manager,

National Bank for Agriculture and Rural Development, Tamil Nadu Regional Office,

48, Mahatma Gandhi Road, Post Box No.6074, Nungambakkam, Chennai-34.

The Managing Director,

Tamil Nadu State Apex Cooperative Bank, Chennai -01.

The Accountant General (A&E), Chennai-18.

The Accountant General (A&E), Chennai-18 (By name)

The Accountant General (Audit-I), Chennai-18.

The Pay and Accounts Office (South), Chennai – 8.

#### Copy to:-

The Chief Minister's Office, Secretariat, Chennai – 9.

The Special Personal Assistant to Hon'ble Minister for Finance, Chennai-9.

The Special Personal Assistant to Hon'ble Minister for Co-operation, Chennai-9.

The Finance (CF&CP/Res.II/BG.I/BG.II) Department, Chennai-9.

SF/SCs

#### //FORWARDED BY ORDER//